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Questions 1 to 10 carry 1 mark each, Questions 11 to 15 cany 2 marks sach.
For each qusstion, Tour options are glven. One of them is the correct answer.
Make your cholce and shade your answer {1,2,30r4)onthe Optical Answer Shest.

(20 marks)

2,

What Is the value of 30 onés, 30 tenths and 30 hundredths?

(1) 333
(2) 3033
{3) 33.03
{4) 13330
8,2
Find the value of 3 ;-5
3
{1) Y
) 18
o —
2 27
K]
3 xS
3 1 3
4
M 1 6

Which of the following is the same 35 4020 g ?

(1) 4k 2g
2 4kg20g
(3) 40kg 2g
(4) 40kg20g

{Go on to the next pags)



Mrs Toh started her 20-minuts jog at 8.35 a.m. After her jog, she did her
housework until 8,15 a.m. How much time did she spend doing her
housework? ’

(1) 1h20min
(2) 1h40min
3) 2h20min
(40 2h40min

The 1able below shows the number of library books borrowed by soms
pupils on a particular day.

Numbar of _

books 0 1 2. 3 4
borrowed »

| pupils

How many puplls borrowed at least 3ilibrary books?

(1y 24
(2 18
(3 12
4 4

Find ‘fh& value of 33~ {18 ~12 + 3).

(1) 1
2 9
@ 19
@ 3

{Go on 1o the next pags)



7‘

In the diagram balové, the lstters R, E, L, A and X are drawn on a square

grid.

>
<l

Which of the letters above have only 1 line of symmetry?

1
@
&
(4

Aand E
Aand X
EandR

L.and X

{Go onto the next page)



The figure bslow shows a pyramid.

Which one of the following is not a net of the pyramid?
&) \ 2)

(3) | , {4)

{Go on to the next page)



10.

11.

Fatimah spent 30% of her salary and still had $4200 of her salary left.
How much money did she spend?

(1
2
@)

(4)

$600
$980
$1400
$1800

The rectangle EFGH below Is made up of 8 identical squares. What s
the ratlo of the area of the shaded part fo the area of the unshaded part?

E

(1)
(2)

) -

@ .

F

Jack and Bill had $300 altogether. After Jack spent $60, he had hvice as
much money as Bill. How much money did Bill have?

(1)
2
(3)
4

$70
$80

$140
$160

{Go on to the next page)



12. In the figure below, ABCD Is a rectangle. ZBAC = 34° and ZCED = 72,
Find the value of ZACE,

A B
34¢

720

(1) 18°
@ r
(3 18°
@ 2r

13. The ple chart shows the number of frujts sold at a frult stall.

There are 65 pears and 100 mangoes-at the stall. The number of
mangoes is twice the number of oranges. How many apples are there at

the stall?

M 115
2) 145
(3 165
4) 185

{Go on to the next page)



14,

15.

A baker sold 400 cakes In 5 days. Each day, he sold 7 cakes fewer than
the previous day. Find the number of cekes he sold on the fisst day.

(1) 59
2) 68
(3) 87
4) o4

The figure below is made up of 3 identical squares, each with an area of
81 cm? The squares overlap each other as shown below. The overlapped -
parts are ldentical. Given that the area of the figure ls 183 cm?, find the
area of each overlapped part.

(1) 20em?
{2) 30cm?
(3) 51om?
(4) 60cm?

(Go on to Booklet B)
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Questions 16 to 25 camry 1 mark each. Write your answers in the spaces provided.
For questions which require units, give your answers in the units stated.
{10 marks)

18.  Round off 49 988 {o the nearest hundred,

Ans: _

17. In a Mathematics test, Abel scored 84 marks, Barney scored 68 marks and
Chris scored 48 marks, What was thelr average score for the test?

Ans:

18.  Mrs Tes paid for 8 identical bowls with a fifty-dollar note.
She recelved $m change. Express the cost of 1 bowl in terms of m.

Ans: $
(Go on 1o the next page)

Do not write
in this space




19.

20.

The table shows the postage charges for sending letters.

Mass ‘ Cbst
First20g - $1.20
Every additlonal 10 g or part iheraof $0.356

Wendy posted a letter weighing 38 g. How much monsy did she havs to pay

as postage?

Find the area of the triangle shown below.

Ans: §

gcm

Ans:

om?

{Go onto the next page)

Do notwrite
In this space




21.

22.

The graph below shows the number of durians sold from Monday to Friday.

Number of durians

Mon Tue Wed Thu. Fr

What is the ratio of the number of durlans sold on Wednesday to the total
number of durians sold over the five days?

Ans:

The ple chart below represents the number of spsctators at a soccer match,
What fraction of the spectators is made up of men?
Give your answer In the simplsst form.

{Go on to the next page)

H

i

Do not write
inthis space




23.  Find Zy In the figure below. Do not wilte
inthis space.

Ans: 0

-24.  Inthe figure below, ACE and BCD are straight lines.
£LABC = 88°, ZCAB = 44° and ZCDE = 55°. Find ZCED.

Ans: N




25.  Fourldentical 7~cm squares wers cut out from a rectangular pisce of grey | Do notwrite
paper measuring 100 cm by 46 cm as shown below. Find the perimeter of | 1 (s space
the remalning plece of grey paper.

———0m >

Ans: : om

(Go on to the next page)




Questions 28 to 30 cary 2 marks each. Show your working clearly and wiite your
answers In the spaces provided. For questions which require units, give your
answers in the units stated.
{10 marks)
26.  Sally used 2 identical ploces-of ribbon to tie a hamper. -g. of each piece of
ribbon was 4 m. Find the total length of the ribbon used. Express your answer

as a fraction in its simplest form.

Ans: _m

27. In the figure below, XYZ Is an isoscsles triangle.
Given that ZXWV = 93°, ZUWV =10°and ZWUX =85°, find £X2Y.

Ans:.

e

1 Donotwiite

inthis spacs



Do notw
28.  The price of an eraser is % the price of a pencil. The price of a highlighter Is | i, m“,:;"ffgg

% the price of an eraser. Given that each highfighter costs $1.50, find the cost |
of the pencil.

. Ans: 3

29. A childhood game is played by rolling a wheel as shown bsilow.

The radius of a wheel Is 40 cm. What is the distance covered when the whes]
makes 10 complete tums? (Take n = 3.14)

Ans:, cm

{Go on to the next pags)



30.

Chiloe collected 2 types of bookmarks. The table shows the number of each
iype of bookmarks she had at first.

Materials of bookmarks | Number of bookmarks
‘ Paper 69
Plastic 38

After Chloo’s father gave her some paper bookmarks, the percentage of her
plastic bookmarks decreased 1o 20%. Find the total number of bookmarks
given to Chioe by her father.

Ans:

End of Paper 1

Do not writa
in this space
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Questions 1 to 5 carry 2 marks each. Show your working ¢tlearly and write your
answers In the spaces provided. For questions which require units, give your
answers In the units stated. (10 marks)

1. A chef bought a total of 8 kg of prawns =nd fish. He cooked 3.8585 kg of
fish and had —} of the mass of fish left. What s the mass of prawns he

bought?

Ans: ka

2. The figure below is made up of a quadrant and 2 identical sgmicircles of
radius 40.5 cm. Find the perimeter of the figure. (Take x = -2;',?4

Ans: cm

Do not write

.| Inthis spact

{Go on to the next page)}




3.

W

Since January, David deposits his savings Into his bank accountevery | Donotwite
month. The graph below shows the amount of money in David’s bank In this space

account at the end of each month from January to May.

$2,000 , : ¥

$1.800 |— ——4

$1.600 +— : e i -

$1400 - =

$1,200 :

$1,000 !
- .
$600
$400
$200

$0
. WJen Feb Mar Apr May
Month

Amount of Money

Given that David’s monthly salary is $4500 what percentage of David’s
salary did he save in March? Express your answer as a fraction in'its
simplest form.

Ans: ___ : %

Peter must score an average of 85 points for 3 games in order towin a
prize at a funfalr. Peter scored 68 points and 78 points for the first 2
games. What is the least numb@f of points he needs to score in the 3rd

game o Win a prize?

Ans:

{Go on to the next page)

2 | B *




5, Mrs Yip had 815 red pens and 549 blus pens. After selling twice as many | Do not wri
biue pens as red pens, she had a fotal of 363 pens left. How many red In this spas
pens had sha left?

Ans:

{Go on to the next page)




For questions 8 to 18, show your working clearly and write your answers in the
spaces provided. The number of marks available is shiown in brackets| Jatthe
end of each question or part-question.

(50 marks)

8. The figure belaw consists of a square and a circle with diameter of 6 cm.
What Is the area of the tinshaded pat? (Take n = 3.14)

Ans:. {3}

3. Ben received $1.50 more pocket money than Jerry daily. Each boy spent
£2.20 a day and saved the rest. When Jerry had saved $28.80, Ben had
saved $24 more than Jeiry. How much pocket money did Bén receive
daily?

Ans: [3]

Do not write

- inthis space

{Go on {o the next page)




A rectangular fank measures 34 cm hy 52 cm by 16 cm. Alice managed to | Do not wite
fit in a total-of 56 identical cubes Info the tank before covering it with a lid. | 0 this space
This was the. gieatsst humber of such cubes she could fit into the tank.
Given that the length of one side of the cube Is a whole number find its
length,

Ans: (3]

(Go on to the next page)




9.

Weiming Is £ ysars old now. His mother is 1 year younger than his fathar, | Do notwrite
In 4 years’ ime. Weiming's father will be ivice Weiming’s age. How old i | I /s space
Weiming’s mothernow? Express your answerintermsof £

Ans: [3]

{Go on to the next page)

° l i

| .




10.

In the figure below, ABCD Is a rhombus. <EDB = 87° ZFEG = 110° and
ZBAD = 86°. Given-that GED, FEC and FDB are straight lines, find «FGD.

F

Ans: [3]

{Go onto the next page)

In this space




11,

Steven and Tom started cycling at the same time along & 8,5 kmtrack. Do not writa
Both did not change thelr speeds throughout the whole joumey. Steven | 1t space
cycled st a speed of 30 mimin fester than Tom. When he reached the
end of the track, Tom was 800 m behind him. What was Tom's cycling
speed In m/min?

Ans: [4]}

{Go on to the next page)

8 ‘ !




12

Meifen has a numbsr of 10¢, 204 and 50¢ coins inthe ratio of8:3: 5

respectively. The tolal value of all the coins is $195.

(a) Melfen spent haif the number of her 50¢ coins. Find the new ratio
of the numbsr 6F 10¢ coins to the number of 20¢ coins fo the
remaining number o 50§ coins.

(b) Whatis the total value of the 20¢ toins?

Ans: (8) [11
(b) {31
(Ge sn te the next pags)

Do not write

| In this space




13.

Mrs Tang had some money. She used §53 to pay for 4 ldentical large
potted plams and 7 identical small potted piams

If she bought another large potted plant, she would be short of $3.50.
If she bought another small potted plant. she would have $1.50 left.

a) What is the difference in price between the large and the small potted
plant?

b) Find the price of one large potied plant,

Ang: (3) {1]

(b) {31

Do not write
n this space:

{Ge #n i the next page)

10 '



14.

Every month, Jevier spends -g of his salary on food ~g~ of the remainder on

rent and saves the rest of his salary.

{a) Whatfraclion of his salary does Jevier sava?
Give your answer in the simplest form

(b) Jevieris saving to buy a laplop that costs $4000. Given that he spends
$1200 on food every' manth. how long will he teke fo save In order to
buy the laptop?

Ans: (a) [2]
{b) [3]
{Go on{o the next page)

Do not writ
in this spac

"1




16.

The figure below shows 2 rectangular {anks, A and B. Tank A has abase
area of 30 e while Tank B has a base area of 90 cm?.

Tank A

Tank B

a) Tank A contained water to a helght.of 47 cm. What was the volums of

water in Tank A?

b) Tank B was emply at first, Aivin furned on the tap for 6 minutes, allowing
water o flow at a rate of 95 ¢m® min.info Tank B Then, he poured some
water from Tank A into Tank B until the height of the water level in Tank B
was the same as the height of the water level in Tank A. Find the height -

of the water level in Tank B.

Ans:(a)

(b)

12

[1]

[4]

{Go on 1o the next page)

Do not write
InYhis space

*



16.

In tha figurs below, ABC is an isosceles triangle and EFGC is a square.

ZCDE =20° end ZBAC =98° DCFIs a straight line.

(a) Find ZFCA,

{b) Find LDEC.

g<
Ans: (a) (2]
(b) [2]
{Go on to the next page)

13

Do notl wrile
in this spagt

w—y

f



17.

Mr Lau bought & tennis racket and s bag at discounted prices. He spenta
total of $168,75 on the two jtema. Theratio of the amount Mr Lau paid for the
tennis racket to the amount he pald for the bagwas 2: 1,

{8) Find the cost of the bag after the discount.

(b) The tolal discount given for the two items was $31.25. MrLauwas
given a 10% discount for the tennis racket. What was the percentage

Do not write
in this space

discount gjven for the bag?
Ans: (a) 1] |
{b) [4]
{Go on to'the next page)

13 !



18. Numbers are written in order beginning from 1 as shown in the pattem below.

Row 1 1

Row 2 213]4.

Row 3 s|le|{7|s]s
Row 4 1011 {12 {13 1415 18
Row 5 17 | |

Row8 N

Glven that thé pattemn continues,

{a) find the number represented by the letter N:

{b} find the greatest number in Row B,

{c) find the number in the middle of Row 12

Selers;

Mrs Jossphine Lal, Ms Grace Chan, Ms Yew Hew Mel, Mr Yip Yew Fel and Mrs Norsh Idil

Ans: {a)

End of Paper

)

{c)

15

[1]

1]

2]

Do not write
In this space




ANSWER SHEET

EXAM PAPER 2017 (P6)
SCHOOL : HENRY PARK
SUBJECT : MATHEMATICS
TERM : PRELIM

Q1 Q2 Q3 Q4 Q5 Qb Q7 Q8 Q9 Qio
1 3 2 1 2 3 1 4 4 1
Qli Q12 Qi3 Qi4 Q1s
2 1 4 4 2
16)50000

17)68 + 64 + 48 = 180
180+ 3=60 -
18)550 - $Sm
=$(50 —m)
${50 -m)=+6
= ${50-m/6)
19)51.20 + $0.70 = $1.90
20) %2 x 13cm x 4cm = 26cm2




21)30 +25+25+20+15 =115
15:115
3:23
22)100% — 28% — 16% — 8% = 48%
=48/100 = 12/25
23)360° —132° —98° —51° =79°
24)/180° —86° —44° =50°
ZACB= ZDCE
ZCED—>180° —55° —-50° =75°
25)}{100cm + 4cm) x 2 = 290cm
bx7cm=42cm
290cm +42cm = 332cm
26)5/8>4m
1/8-2>0.8m
2->12.8m = 128/10m = 124/5m
27) £XWU->93° ~10° =83°
ZYXZ>180° —83° —65° =32°
£XYZ->180° -32° —-32° =116"
28lH: E: P 3u~>$1.50
3:4 u—>51.50+ 3 =$0.50
8u—>8 x $0.50 = 84

1:2
3:6:8



29)40cm x 2 = 80cm
10x (80cm x 3.14)
=2512cm
30)20% 36
80% —>36 x4 =144
144 —- 69 = 75 bookmarks
Paper 2
1)% ->3.855kg -
% —>3.855kg <3 =1.285kg
1->1.285kg x 4 = 5.14kg
2) % (2 x 22/7x 10.5) x 1% = 82.5
82.5+10.5+10.5 =103.5cm
3)300/4500 x 100 = 62/3
4)85 x 3 = 255
255 -79- 68 = 108.
5)615 +549 =1164
.1164 -363 =801
801-+3 =267
615 — 267 = 348 red pens
6)Area of square {6cm X 6em) =2 = 18cm?2
6cm-<+2 =3cm
Area of circle->3.14 x 3cm x 3cm = 28.26cm2

Area of unshaded—>28.26cm2 — 18cm2 = 10.26cm2



7)$24--%1.50 = 16
$28.80 + $24 = $52.80
$52.80-+16 =$3.30
$3.30 + $2.20 = $5.50
8)52cm—~7cm = 7R3cm
16cm <-7cm = 2R2cm
34cm—-7cm = 4R6cm
7x4x2=56
Ans: 7cm
9)4 years later
w-2(f + 4)
WF->(f+4) x 2 = (2f + 8)
MO(2f+8)—1=(2f+7)
Now
M->(2f + 7) — 4 = (2f + 3) years old
10)£CBD->180° —66° /2=57°
ZEDC—)Q?'; -57° =40°
ZFCD->180° —-40° —110° =30°
11)600m-=-30 m/min =20 min
6.5km = 6500m
Steven speed—>6500m <20 min = 325m/min

Tom speed—>325m/min — 30m/min = 295m/min



12)a)16:6:5
b)150 x $0.20 = $30
13)a}$3.50 + $1.50 =85
b)4 x $5 = $20
$53~520=5$33
$33+(7 +4) =33
$3+9$5=98
14)a)1-2/5=3/5
R>4/9x3/5=4/15
1-2/5-4/15=1/3
b)F>6/15
R->4/5
$>5/15
6u—>%$1200
u=>$1200-6 = $200
5u—~>$200 x 5 = $100 _
S4000-51000 = 4 months
15)a)47cm x 30cm2 = 1410cm3
b)95cm3/min x 6min = 570cm3
1410cm3 + 570 cm3 = 1980cm3

1980¢m3--{90cm2 + 30cm2) = 16.5cm



16)a) ZACB->(180° —98° ) + =41°
ZGCF>90° +2=45°
ZFCA>45° +41° =86°
b) ZFEC>90°
ZCFE>90° 2=45°
ZDEC>180° ~90° —20° —45° =25°
17)a)u->$168.75+3 = $56.25
b)TR->$56.25 x 2 = $112.50
90% ~>$112.50
10% >$112.50<-9 = $12.50
Discount for bag=>$31.25 - $12.50 = $18.75
$56.25 + $18.75 - $75
18.75/75 x 100 = 25%
18)a)(6x 5)+ 1 =31
b)Middle number for row 82>{8 x7) +1 =57
8-1=7 '
57+7 =64
c){12x11)+1=133



